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QUESTION 1

You are Tasked with restoring archived sub-tasks in a project. 

The project to which the sub-tasks belong has since been archived, as well. 

Which is the toned course of action? 

A. restore the parent issues only 

B. restore the project only 

C. restore the parent issues, then the sub-tasks 

D. restore the project, then the sub-tasks 

E. restore the project, then the parent issues 

Correct Answer: D 

The best course of action is to restore the project, then the sub-tasks. This is because sub-tasks cannot exist without
their parent issues, and parent issues cannot exist without their project. Therefore, restoring the project first will ensure
that the parent issues are also restored, and then restoring the sub-tasks will re-attach them to their parent issues.
Restoring the parent issues only will not restore the sub-tasks, as they are still archived. Restoring the project only will
not restore the sub-tasks, as they need to be restored separately. Restoring the parent issues, then the sub-tasks will
not work, as the parent issues cannot be restored without their project. Restoring the project, then the parent issues is
unnecessary, as the parent issues are already restored with the project. References: [Restoring an archived issue],
[Managing Jira Projects Data Center and Server: Certification Bundle] 

 

QUESTION 2

A project was created with a shared configuration. Which two configurations were shared? (Choose two. 

A. component lead assignments 

B. versions 

C. transition screens 

D. project role membership 

E. project permissions 

Correct Answer: CE 

When a project is created with a shared configuration, it inherits the configurations of an existing project. This includes
the workflow, issue types, screens, fields, permissions, notifications, and schemes associated with them. However, the
component lead assignments and versions are specific to each project and are not shared. Therefore, the correct
answer is C and E. References: Creating a project, Configuring projects 

 

QUESTION 3
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Quang is a project administrator. He added several fields to his project screen. All team members have Edit Issues
permission in this project. Which field can definitely be set allproject team member-."1 

A. Attachment 

B. Assignee 

C. Fix Version/s 

D. Labels 

E. Issue Type 

Correct Answer: D 

The only field that can definitely be set by all project team members is Labels. Labels are a system field that can be
edited by any user who has the Edit Issues permission in the project, regardless of the screen configuration. The other
fields may or may not be editable by the project team members, depending on how they are configured in the screen
scheme, field configuration scheme, and permission scheme of the project. For example, Attachment requires both the
Edit Issues permission and the Create Attachments permission, Assignee requires both the Edit Issues permission and
the Assignable User permission, Fix Version/s requires both the Edit Issues permission and the Resolve Issues
permission, and Issue Type requires both the Edit Issues permission and a compatible issue type scheme. For more
information on how toconfigure fields in Jira, see Configuring fields and screens. References: Configuring fields and
screens 

 

QUESTION 4

You are moving an epic between projects that share an issue type scheme. Which issues are moved along with the
epic5 

A. all standard issues in the epic 

B. all standard and sub-task issues in the epic 

C. only Story issues in the epic 

D. all sub-tasks of the epic itself 

E. all issues linked to the epic through issue links 

Correct Answer: A 

When you move an epic between projects that share an issue type scheme, all standard issues in the epic are moved
along with it. This means that any issue type that is not a sub-task or an epic will be moved to the new project. Sub-task
issues in the epic will not be moved unless their parent issues are also in the epic. Story issues in the epic will be moved
only if they are standard issue types, not sub-tasks. Issues linked to the epic through issue links will not be moved as
they are not part of the epic hierarchy. Therefore, the correct answer is A. References: Moving an issue, Working with
epics 

 

QUESTION 5

A team currently uses a single project to track both features and tasks. They will be adopting aqile practices, as follows: 
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1. 

Features will be developed during three week iterations. 

2. 

Tasks will be handled based on priority and rank and released incrementally as needed. 

they want to use agile boards with minimal disruption to their current configuration. Which solution will meet their
requirements? 

A. a Kanban board in the current project with separate swimlanes per issue type 

B. two Scrum boards for the current project, one for each issue type 

C. a Scrum board in the current project with two quick fillers to show each issue type separately 

D. a second project for tasks with a shared configuration and separate boards per project 

E. a Kanban board for tasks and a Scrum board for features in the current project 

Correct Answer: E 

The solution that will meet the team\\'s requirements of using agile boards with minimal disruption to their current
configuration is to use a Kanban board for tasks and a Scrum board for features in the current project. This way, they
can use different agile methodologies for different issue types without creating a new project or changing their existing
configuration. They can use a Kanban board for tasks to handle them based on priority and rank and release them
incrementally as needed. They can use a Scrum board for features to develop them during three week iterations with
sprints and backlogs. The other solutions are either not feasible or not optimal for their needs. Therefore, the correct
answer is E. References: [Creating a board], [Using a Scrum board], [Using a Kanban board] 
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